
ENGL 110:  Additional Wordiness Exercises 
 
1.  The intention of the company was to expand its workforce.  A proposal was also made to 
diversify the backgrounds and abilities of employees. 
 
2.  After the company made a decision to hire more workers with disabilities, its next step was 
the construction of wheelchair ramps and other facilities. 
 
3.  The 2012 law is seen by most businesses as fair, but the costs of complying have sometimes 
been objected to. 
 
4.  The reason why most of the country shifts to daylight time is that summer days are much 
longer than winter days. 
 
5.  The occurrence of the shortest day of the year is about December 22. 
 
6.  The earth’s axis has a tilt as the planet is in orbit around the sun so that the northern and 
southern hemispheres are alternately in alignment toward the sun. 
 
7.  In my opinion, the council’s proposal to improve the nature of the city center is inadequate 
for the reason that it ignores pedestrians. 
 
8.  There is a completely noninvasive laser treatment that makes people thinner by rupturing 
fat cells and releasing the fat into the spaces between cells.  It is the expectation of some 
doctors that the procedure will replace liposuction. 
 
9.  The propensity of overweight people to gain extra poundage at holiday time is due to two 
factors:  greater susceptibility and responsiveness to food stimuli and poor compensatory 
regulation of food intake. 
 
10.  There are a great number of gopher holes on the golf course. 


